Kompleks
funksjonsteori og

Laplacetransformasjo-
Noregs teknisk—naturvitskaplege
universitet nar
Institutt for matematiske fag Haust 2023

Oppgavesett 9

Lgys systema under.

'(t) — 2z(t) + 3y(t) = 0 '(t) = 5a(t) + y(t) a'(t) = x(t +y(t)
y'(t) —x(t) +2y(t) =0 y y'(
z(0)

1, y(0) = 0

Lgys systema under.

() = —4x(t) + 5y(t) 2" (t) = z(t) + 3y(t)
y'(t) = —=(t) +2y(¢) y"(t) = 4x(t) — de’
z(0) =1, y(0) =2 z(0) =2, y(0) =1
2'(0) =0, y'(0)=0 2 (0) =3, ¥'(0) =2

Lgys systemet.

42’ (t) + o/ (t) — 22/(t) =0
—22/(t) + 2/ (t) =1
2y/(t) — 42/ (t) = —16t

> y(
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